_”;POSSfo{ roots £1, t1

puff' 1;;-")(3“%2%2){ 2 th BC & Checle takle
= 18 hot a zero
t—, »?ﬁ ~b ot a zeru

g‘“ 0 ZERDL!

' 6

s

) ,)( ,z et 4 ZWQ

7 X&.Zx%.ﬁx.:.i._o. =0
10 =+, 2 TS5, 00
Po&ww mmzs i'iZ'f: 5 F10

PWc V= x5 -x245%x-10 10 G( 4 check Table
ox\y ff@fff;;mm_j'ffj,7ff”m”“”77fmwmf
- -wi-1260 2 | -2 5 -0
Sl -2t0 Z_ 0 i

B e T T T

B L

2
~ Sfa0  x=2  X*=-5
i %40 k= k5

Ve (=D xEsd=0
0 —Zerp  x-2=0 _ Xx*+5=0



Answers for Lesson 6-5, pp. 333-334 Exercises
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+1,£2;1
1, £2, +3, +6 1 -2, =3
+1, £2, +4; -1

_2, +1, 2, +4, £8; no ratlonal r0ots
+1, £2, +4, +8, +16;—2

-1, £3, 45, £15; no rational roots

2, £iV5 | 8. 5, +iV7
3,12 10, -5, 123
+1 43 2,2V




